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QUESTION 1

A customer accumulates massive quantities of data. Customer views the data as "very old data" after 6 months. The
customer does not want to build a massive petabyte structure of spinning disk for access.

Which IBM solution economically best meets the customer\\'s growth needs?
A. IBM TS4300 with Spectrum Protect Suite

B. IBM SVC virtualizing multiple IBM FlashSystem A9000 units behind it

C. IBM A9000R using IBM Spectrum Protect

D. IBM Enterprise Tape and IBM FlashSystem 900 with IBM Spectrum Archive

Correct Answer: C

QUESTION 2

What is assured by executing a Technical and Delivery Assessment (TDA)?
A. The technical quality of a solution

B. Best practices are reviewed

C. The solution meets total cost of ownership requirements

D. Support calls will be unnecessary during implementation

Correct Answer: A

QUESTION 3

A customer is considering implementing a High-Density Expansion Enclosure with IBM Storwize V7000. Which
configuration requirement should the customer be aware of?

A. It uses four power supplies
B. It fits in an S42 rack

C. It uses the C13 power cord
D. Itis CE installed

Correct Answer: C

QUESTION 4

A customer wants to simplify and automate capacity management for an IBM Storwize solution. Which product should
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be included?

A. IBM Storage Insights Pro

B. IBM Storage Insights

C. IBM Spectrum Control Advanced
D. Tiered Storage Optimizer
Correct Answer: C

Reference: https://www.ibm.com/us-en/marketplace/spectrum-control

QUESTION 5

A customer is evaluating an IBM Storwize V7000 for high performance storage for applications and the
ability to run storage backups with the least impact on performance.

Which solution meets the customer\\'s requirements?

A. Create volumes with volume mirroring between I/O Groups.

B. Use IBM Spectrum Protect Snapshot to create a copy to another storage pool.

C. Create volumes with volume mirroring to a virtualized external IBM Storwize V5010.

D. Setup volumes from two IBM Storwize V7000 systems and use Metro Mirror.

Correct Answer: B

Reference: https://www.ibm.com/downloads/cas/L1VYBZGR
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